
Q.1 Article 21A pertains to which of the following rights?
Ans 1. Right to Education

2. Right to Freedom

3. Right to Freedom of Religion

4. Right to Equality

Question ID : 264330116395
Option 1 ID : 264330457667
Option 2 ID : 264330457666
Option 3 ID : 264330457668
Option 4 ID : 264330457665

Status : Answered
Chosen Option : 1

Q.2 __________is the first South Indian musician to win a Grammy for Best World Music
Album for his role as a ghatam and morsing player in Mickey Hart’s album‘Planet
Drum’.

Ans 1. Phani Narayana

2. S Ballesh

3. Dr. Ramachandra Murthy

4. TH Vinayakram

Question ID : 264330113234
Option 1 ID : 264330445021
Option 2 ID : 264330445023
Option 3 ID : 264330445024
Option 4 ID : 264330445022

Status : Not Answered
Chosen Option : --

Q.3 GNP at market price is measured as:
Ans 1. GDP at market price − Depreciation

2. GNP at market price + subsidies

3. GDP at market price + Net factor income from abroad

4. NDP at factor cost + Net factor income from abroad

Question ID : 264330110165
Option 1 ID : 264330432937
Option 2 ID : 264330432939
Option 3 ID : 264330432938
Option 4 ID : 264330432940

Status : Answered
Chosen Option : 3
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Section : General Knowledge



Q.4 In which year was Indian Olympic Association formed?
Ans 1. 1920

2. 1927

3. 1900

4. 1928

Question ID : 264330176101
Option 1 ID : 264330690700
Option 2 ID : 264330690699
Option 3 ID : 264330690702
Option 4 ID : 264330690701

Status : Answered
Chosen Option : 4

Q.5 Which of the following does NOT come under Fundamental Duties?
Ans 1. To safeguard public property

2. To cherish and follow the noble ideals that inspired the national struggle for freedom

3. To value and preserve rich heritage

4. To secure a living wage

Question ID : 264330173481
Option 1 ID : 264330680404
Option 2 ID : 264330680405
Option 3 ID : 264330680403
Option 4 ID : 264330680406

Status : Answered
Chosen Option : 4

Q.6 The novel ‘The Inheritance of Loss’ is written by:
Ans 1. Aravind Adiga

2. Anita Desai

3. Kiran Desai

4. Anees Salim

Question ID : 26433071707
Option 1 ID : 264330281252
Option 2 ID : 264330281254
Option 3 ID : 264330281253
Option 4 ID : 264330281255

Status : Answered
Chosen Option : 2

Q.7 The Chief Minister of a State acts as __________ of the concerned zonal council on
rotation basis along with the other Chief Ministers in that zonal council.

Ans 1. Member

2. Vice Chairman

3. Ex- officio Chairman

4. Chairman

Question ID : 264330120188
Option 1 ID : 264330471008
Option 2 ID : 264330471010
Option 3 ID : 264330471009
Option 4 ID : 264330471007

Status : Answered
Chosen Option : 1



Q.8 The Gateway of India, located in the city of Mumbai, is built in which of the following
architectural styles?

Ans 1. Indo-Greek

2. Indo-British 

3. Indo-Saracenic

4. Indo-Sino

Question ID : 264330111847
Option 1 ID : 264330439473
Option 2 ID : 264330439475
Option 3 ID : 264330439474
Option 4 ID : 264330439476

Status : Answered
Chosen Option : 2

Q.9 The Montagu-Chelmsford Reforms led to enactment of the Government of India Act of:
Ans 1. 1909

2. 1858

3. 1919

4. 1935

Question ID : 264330113575
Option 1 ID : 264330446387
Option 2 ID : 264330446386
Option 3 ID : 264330446388
Option 4 ID : 264330446385

Status : Answered
Chosen Option : 3

Q.10 This temple, that was built by Raja Bhimdev I of the Solanki Dynasty, has a rectangular
pond called ‘Surya Kund’ in front of it. What is the name of this temple?

Ans 1. Modhera Sun Temple

2. Khajuraho  

3. Konark Sun Temple  

4. Chausath Yogini

Question ID : 264330111855
Option 1 ID : 264330439506
Option 2 ID : 264330439508
Option 3 ID : 264330439507
Option 4 ID : 264330439505

Status : Answered
Chosen Option : 1

Q.11 Which of the following statements is correct about membership in the World Trade
Organization (WTO)?

Ans 1. It negotiates only bilateral trade agreements between countries.

2. All the countries of the world are members of WTO.

3. India reduced trade restrictions due to obligations to WTO.

4. It was established as a new organisation in 1991.

Question ID : 264330111772
Option 1 ID : 264330439176
Option 2 ID : 264330439173
Option 3 ID : 264330439174
Option 4 ID : 264330439175

Status : Not Answered
Chosen Option : --



Q.12 Select the correct arrangement of the taxonomic hierarchy in ascending order from the
following.

Ans 1. a

2. c

3. b

4. d

Question ID : 264330131731
Option 1 ID : 264330516023
Option 2 ID : 264330516025
Option 3 ID : 264330516024
Option 4 ID : 264330516026

Status : Answered
Chosen Option : 3

Q.13 At independence, which was the major employment-producing sector?
Ans 1. Agriculture

2. Service

3. Industrial

4. Foreign trade

Question ID : 264330177864
Option 1 ID : 264330697543
Option 2 ID : 264330697545
Option 3 ID : 264330697544
Option 4 ID : 264330697546

Status : Answered
Chosen Option : 1

Q.14 What is the study of coins called?
Ans 1. Almanac 

2. Numismatics 

3. Petroglyphs 

4. Curator 

Question ID : 264330118962
Option 1 ID : 264330466505
Option 2 ID : 264330466503
Option 3 ID : 264330466504
Option 4 ID : 264330466506

Status : Answered
Chosen Option : 2



Q.15 ‘National AYUSH Mission’ has been extended up to 31st March 2026. When was the
scheme launched?

Ans 1. 2015

2. 2016

3. 2014 

4. 2012 

Question ID : 264330111587
Option 1 ID : 264330438435
Option 2 ID : 264330438436
Option 3 ID : 264330438434
Option 4 ID : 264330438433

Status : Answered
Chosen Option : 2

Q.16 Which of the following is the most abundant mineral in our body?
Ans 1. Phosphorous

2. Calcium

3. Iron

4. Copper

Question ID : 264330120920
Option 1 ID : 264330473896
Option 2 ID : 264330473897
Option 3 ID : 264330473895
Option 4 ID : 264330473898

Status : Answered
Chosen Option : 2

Q.17 Who is the only living representative of the extremely ancient and diverse group,
Sphenopsida, commonly known as ‘horsetails’?

Ans 1. Equisetum

2. Psilotum

3. Dryopteris

4. Adiantum

Question ID : 264330130981
Option 1 ID : 264330513036
Option 2 ID : 264330513038
Option 3 ID : 264330513037
Option 4 ID : 264330513035

Status : Not Answered
Chosen Option : --

Q.18 In 2003, __________________________ became the first Indian woman dancer to be
awarded with the Padma Vibhushan.

Ans 1. Rukmini Devi Arundale

2. Sonal Mansingh

3. Sitara Devi

4. Shovana Narayan

Question ID : 26433097124
Option 1 ID : 264330381196
Option 2 ID : 264330381195
Option 3 ID : 264330381193
Option 4 ID : 264330381194

Status : Answered
Chosen Option : 1



Q.19 What was the primary outcome of the liberalisation and privatisation initiatives under
the New Economic Policy (NEP) in 1991, followed by the Indian government?

Ans 1. Fiscal policy reforms

2. Globalisation

3. Centralization

4. Monetary policy reforms

Question ID : 264330110179
Option 1 ID : 264330432993
Option 2 ID : 264330432994
Option 3 ID : 264330432996
Option 4 ID : 264330432995

Status : Answered
Chosen Option : 2

Q.20 Goa is well known for which of the following ores?
Ans 1. Uranium and copper

2. Iron and manganese

3. Gold and graphite

4. Petroleum and coal

Question ID : 264330176003
Option 1 ID : 264330690308
Option 2 ID : 264330690309
Option 3 ID : 264330690310
Option 4 ID : 264330690307

Status : Not Answered
Chosen Option : --

Q.21 The English word juggernaut comes from the name Jagannath, meaning ‘Lord of the
World’. Where is the world-famous Shree Jagannath temple located?

Ans 1. Kolkata

2. Cuttack

3. Puri 

4. Bhubaneshwar 

Question ID : 264330119001
Option 1 ID : 264330466662
Option 2 ID : 264330466660
Option 3 ID : 264330466659
Option 4 ID : 264330466661

Status : Answered
Chosen Option : 3

Q.22 North-South corridor, that is part of Golden Quadrilateral super highways connects
which two States/Union Territories?

Ans 1. Jammu & Kashmir and Tamil Nadu

2. Rajasthan and West Bengal

3. Assam and Gujarat

4. Chandigarh and Tamil Nadu

Question ID : 264330138063
Option 1 ID : 264330540859
Option 2 ID : 264330540862
Option 3 ID : 264330540860
Option 4 ID : 264330540861

Status : Answered
Chosen Option : 1



Q.23 The Delhi Sultans built many cities in the area that is known as Delhi today. Which of
the following was NOT built by them?

Ans 1. Siri

2. Jahanpanah

3. Lal Kot

4. Tughlakabad

Question ID : 264330106562
Option 1 ID : 264330418549
Option 2 ID : 264330418551
Option 3 ID : 264330418552
Option 4 ID : 264330418550

Status : Answered
Chosen Option : 3

Q.24 Which type of electoral system has been adopted in case of Rajya Sabha by the
Constitution?

Ans 1. Two Party System

2. First Past The Post

3. Proportional Representation

4. One Party System

Question ID : 264330173532
Option 1 ID : 264330680610
Option 2 ID : 264330680607
Option 3 ID : 264330680608
Option 4 ID : 264330680609

Status : Answered
Chosen Option : 3

Q.25 In which of the following years was the Indian National Congress founded, in
Bombay?

Ans 1. 1889

2. 1880

3. 1892

4. 1885

Question ID : 264330113585
Option 1 ID : 264330446426
Option 2 ID : 264330446428
Option 3 ID : 264330446427
Option 4 ID : 264330446425

Status : Answered
Chosen Option : 4

Q.26 How many Rasas are presented in classical dances?
Ans 1. 5

2.  6

3.  7

4.  9

Question ID : 264330110410
Option 1 ID : 264330433917
Option 2 ID : 264330433919
Option 3 ID : 264330433918
Option 4 ID : 264330433920

Status : Answered
Chosen Option : 4



Q.27 Which is the first known instrument to measure the humidity of air or gas, built by
Leonardo da Vinci around 1400?

Ans 1. Transmissometer

2. Disdrometer

3. Sling psychrometer

4. Hygrometer

Question ID : 264330141728
Option 1 ID : 264330555233
Option 2 ID : 264330555234
Option 3 ID : 264330555232
Option 4 ID : 264330555231

Status : Answered
Chosen Option : 4

Q.28 The Prayaga Prashasti (also known as the Allahabad Pillar Inscription) was composed
in Sanskrit by Harishena, the court poet of:

Ans 1. Kharavela  

2. Samudragupta

3. Harshavardhana

4. Asoka 

Question ID : 264330119754
Option 1 ID : 264330469294
Option 2 ID : 264330469291
Option 3 ID : 264330469293
Option 4 ID : 264330469292

Status : Answered
Chosen Option : 2

Q.29 A small scale industry is defined with reference to the maximum investment allowed
on assets which is equal to ________.

Ans 1. ₹5 lakhs

2. ₹1 crore

3. ₹10 lakhs

4. ₹10 crores

Question ID : 264330111552
Option 1 ID : 264330438293
Option 2 ID : 264330438294
Option 3 ID : 264330438295
Option 4 ID : 264330438296

Status : Answered
Chosen Option : 4

Q.30 Mera Houchongba is an important festival to celebrate peace in which Indian state?
Ans 1. Assam

2. Manipur 

3. Chhattisgarh

4. Jharkhand

Question ID : 264330132407
Option 1 ID : 264330518726
Option 2 ID : 264330518723
Option 3 ID : 264330518725
Option 4 ID : 264330518724

Status : Answered
Chosen Option : 1



Q.31 Which of the following Articles has been inserted in the Indian Constitution by the
Constitution (Eighty-Sixth Amendment) Act, 2002?

Ans 1. Article 55-A

2. Article 21-A

3. Article 31-A

4. Article 25-A

Question ID : 264330117797
Option 1 ID : 264330463004
Option 2 ID : 264330463005
Option 3 ID : 264330463003
Option 4 ID : 264330463006

Status : Answered
Chosen Option : 2

Q.32 The kinetic energy of the constitute molecules of the matter is minimum for its:
Ans 1. liquid state

2. plasma state

3. gas state

4. solid state

Question ID : 264330173650
Option 1 ID : 264330681080
Option 2 ID : 264330681082
Option 3 ID : 264330681079
Option 4 ID : 264330681081

Status : Answered
Chosen Option : 4

Q.33 ‘Bathukamma’ is a colourful floral festival of _________ celebrated by womenfolk with
exotic flowers of the region.

Ans 1.  Gujarat

2. Telangana  

3. Rajasthan  

4.  Karnataka

Question ID : 264330106207
Option 1 ID : 264330417130
Option 2 ID : 264330417129
Option 3 ID : 264330417131
Option 4 ID : 264330417132

Status : Answered
Chosen Option : 2

Q.34 The height of the net in volleyball for women must be ______.
Ans 1. 2.24 m

2. 2.15 m

3. 2.10 m

4. 2.43 m

Question ID : 264330110397
Option 1 ID : 264330433866
Option 2 ID : 264330433867
Option 3 ID : 264330433868
Option 4 ID : 264330433865

Status : Not Answered
Chosen Option : --



Q.35 How many questions were canvassed during Population Enumeration in the 2011
Census of India?

Ans 1. 29

2. 23

3. 21

4. 16

Question ID : 264330130588
Option 1 ID : 264330511466
Option 2 ID : 264330511463
Option 3 ID : 264330511464
Option 4 ID : 264330511465

Status : Not Answered
Chosen Option : --

Q.36 In which year was the 11th Fundamental duty added to the Indian Constitution?
Ans 1.  2002

2.  2001

3. 2000 

4.  2003

Question ID : 264330114485
Option 1 ID : 264330450027
Option 2 ID : 264330450026
Option 3 ID : 264330450025
Option 4 ID : 264330450028

Status : Answered
Chosen Option : 1

Q.37 ________ tribe is one of India's largest tribal groups, according to the 2011 census.
Ans 1. Kodava

2. Bhil

3. Khasi

4. Bhutia

Question ID : 264330182969
Option 1 ID : 264330717611
Option 2 ID : 264330717608
Option 3 ID : 264330717609
Option 4 ID : 264330717610

Status : Answered
Chosen Option : 2

Q.38 Which layer of the atmosphere is suitable and most important to humans?
Ans 1. Troposphere

2. Exosphere

3. Mesosphere

4. Stratosphere

Question ID : 264330118514
Option 1 ID : 264330465457
Option 2 ID : 264330465460
Option 3 ID : 264330465459
Option 4 ID : 264330465458

Status : Answered
Chosen Option : 4



Q.39 As per the National Infrastructure Pipeline 2019-25, what is the share of energy sector
projects out of the total estimated capital expenditure of ₹111 lakh crore?

Ans 1. 17%

2. 24%

3. 37%

4. 40%

Question ID : 264330120364
Option 1 ID : 264330471710
Option 2 ID : 264330471707
Option 3 ID : 264330471709
Option 4 ID : 264330471708

Status : Not Answered
Chosen Option : --

Q.40 Totaram Sharma is a famous _________ player.
Ans 1. sarangi

2. flute

3. guitar

4. pakhawaj

Question ID : 264330111941
Option 1 ID : 264330439849
Option 2 ID : 264330439850
Option 3 ID : 264330439852
Option 4 ID : 264330439851

Status : Answered
Chosen Option : 2

Q.41 What was India's rank in the medal tally at Tokyo Olympic 2020?
Ans 1. 35

2. 58

3. 48

4. 38

Question ID : 264330144212
Option 1 ID : 264330565107
Option 2 ID : 264330565110
Option 3 ID : 264330565109
Option 4 ID : 264330565108

Status : Answered
Chosen Option : 3

Q.42 Jeev Milkha Singh specialises in which event?
Ans 1. Golf

2. Weight lifting

3. Shooting

4. Athletics

Question ID : 264330119254
Option 1 ID : 264330467304
Option 2 ID : 264330467305
Option 3 ID : 264330467303
Option 4 ID : 264330467306

Status : Answered
Chosen Option : 4



Q.43 Identify the correct pair of Indian Dancers who received the Sangeet Natak Akademi
Awards 2021 for their contributions in Bharatanatyam and Kathak, respectively.

Ans 1. Trilochan Mohanta and Mamta Shankar

2. Radha Sridhar and Kumkum Dhar 

3. Jayalakshmi Eshwar and Shama Bhate 

4. Geeta Chandran and Rajashree Shirke

Question ID : 264330130526
Option 1 ID : 264330511215
Option 2 ID : 264330511216
Option 3 ID : 264330511218
Option 4 ID : 264330511217

Status : Answered
Chosen Option : 3

Q.44 Deepa Sashindran, Raja Reddy and Radha Reddy are associated with which of the
following Indian dances?

Ans 1. Bharatanatyam

2. Kathakali

3. Kuchipudi 

4. Kathak

Question ID : 264330130511
Option 1 ID : 264330511158
Option 2 ID : 264330511156
Option 3 ID : 264330511155
Option 4 ID : 264330511157

Status : Answered
Chosen Option : 3

Q.45 Who produced the document of Mahzar at the instance of Akbar?
Ans 1. Faizi 

2.  Abul Fazl

3. Shaikh Mubarak 

4.  Abdun Nabi

Question ID : 264330120291
Option 1 ID : 264330471417
Option 2 ID : 264330471416
Option 3 ID : 264330471418
Option 4 ID : 264330471415

Status : Answered
Chosen Option : 1

Q.46 What is the State religion of Maldives?
Ans 1. Christianity

2. Buddhism

3. Hinduism

4. Islam

Question ID : 264330179302
Option 1 ID : 264330703211
Option 2 ID : 264330703214
Option 3 ID : 264330703212
Option 4 ID : 264330703213

Status : Answered
Chosen Option : 4



Q.47 The Public Accounts Committee consists of ________ members from Lok Sabha and
__________ from Rajya Sabha.

Ans 1. 15, 7

2. 12, 10

3. 13, 9

4. 14, 8

Question ID : 264330110822
Option 1 ID : 264330435565
Option 2 ID : 264330435567
Option 3 ID : 264330435568
Option 4 ID : 264330435566

Status : Answered
Chosen Option : 1

Q.48 'Raseedi Ticket’ is an autobiography written by:
Ans 1. Khushwant Singh

2. Baby Halder

3. Amrita Pritam

4. Ismat Chughtai

Question ID : 26433072942
Option 1 ID : 264330285962
Option 2 ID : 264330285960
Option 3 ID : 264330285961
Option 4 ID : 264330285963

Status : Not Answered
Chosen Option : --

Q.49 During the peak of the revolutionary phase of the Indian freedom struggle, an
assassination attempt on a district magistrate of Muzaffarpur led to the uncovering of
the Alipore Conspiracy in 1908. What was the name of the magistrate?

Ans 1. Robert Lytton 

2. JP Saunders 

3. Douglas Kingsford 

4. Edward Irwin 

Question ID : 264330119002
Option 1 ID : 264330466665
Option 2 ID : 264330466663
Option 3 ID : 264330466664
Option 4 ID : 264330466666

Status : Answered
Chosen Option : 3



Q.50 As a factor of cost, what is the other name of the net national product?
Ans 1. Gross national product

2. Net domestic product

3. Personal income 

4. National income

Question ID : 264330120089
Option 1 ID : 264330470614
Option 2 ID : 264330470613
Option 3 ID : 264330470611
Option 4 ID : 264330470612

Status : Answered
Chosen Option : 4

Q.1 Select the correct mirror image of the given combination when the mirror is placed at
MN as shown below.

Ans 1. 

2. 

3. 

4. 

Question ID : 264330172418
Option 1 ID : 264330676224
Option 2 ID : 264330676223
Option 3 ID : 264330676225
Option 4 ID : 264330676226

Status : Answered
Chosen Option : 2

Q.2 Select the set in which the numbers are related in the same way as are the numbers of
the following sets.

(NOTE: Operations should be performed on the whole numbers, without breaking
down the numbers into its constituent digits. E.g. 13 – Operations on 13 such as
adding/deleting/multiplying etc. to 13 can be performed. Breaking down 13 into 1 and 3
and then performing mathematical operations on 1 and 3 is not allowed)
(2, 9, 3),(5, 23, 4)

Ans 1. (11, 40, 4)

2. (10, 33, 3)

3. (13, 36, 3)

4. (12, 37, 4)

Question ID : 26433097191
Option 1 ID : 264330381461
Option 2 ID : 264330381464
Option 3 ID : 264330381463
Option 4 ID : 264330381462

Status : Answered
Chosen Option : 2

Section : Reasoning



Q.3 A paper is folded and cut as shown below. How will it appear when unfolded?

Ans

1. 

2. 

3. 

4. 

Question ID : 264330111707
Option 1 ID : 264330438914
Option 2 ID : 264330438913
Option 3 ID : 264330438916
Option 4 ID : 264330438915

Status : Answered
Chosen Option : 1



Q.4

Ans

1. 

2. 

3. 

4. 

Question ID : 264330103854
Option 1 ID : 264330407718
Option 2 ID : 264330407719
Option 3 ID : 264330407717
Option 4 ID : 264330407720

Status : Answered
Chosen Option : 3



Q.5

Ans

1. 

2. 

3. 

4. 

Question ID : 26433082916
Option 1 ID : 264330325499
Option 2 ID : 264330325498
Option 3 ID : 264330325500
Option 4 ID : 264330325497

Status : Answered
Chosen Option : 2

Q.6 In a certain code language, ‘RADICAL’ is written as ‘BBDEJMS’ and ‘SUSPECT’ is
written as ‘DFQTTUV’. How will ‘VIRTUAL’ be written in that language?

Ans 1. BJMSUVW

2. LAUTRIV

3. RIVTLAU

4. WJSUVBM

Question ID : 26433087175
Option 1 ID : 264330342338
Option 2 ID : 264330342340
Option 3 ID : 264330342339
Option 4 ID : 264330342337

Status : Answered
Chosen Option : 1



Q.7

Ans 1. 10

2. 8

3. 9

4. 6

Question ID : 26433085580
Option 1 ID : 264330336024
Option 2 ID : 264330336022
Option 3 ID : 264330336023
Option 4 ID : 264330336021

Status : Answered
Chosen Option : 2



Q.8

Ans

1. 

2. 

3. 

4. 

Question ID : 26433076503
Option 1 ID : 264330300079
Option 2 ID : 264330300076
Option 3 ID : 264330300078
Option 4 ID : 264330300077

Status : Answered
Chosen Option : 4



Q.9 A square sheet of paper is folded along the dotted line successively along the
directions shown and is then punched in the last. How would the paper look when
unfolded?

Ans

1. 

2. 

3. 

4. 

Question ID : 264330172409
Option 1 ID : 264330676188
Option 2 ID : 264330676189
Option 3 ID : 264330676187
Option 4 ID : 264330676190

Status : Answered
Chosen Option : 4



Q.10 Which figure should replace the question mark (?) in the following series to continue
the pattern?

Ans

1. 

2. 

3. 

4. 

Question ID : 264330129620
Option 1 ID : 264330507847
Option 2 ID : 264330507846
Option 3 ID : 264330507849
Option 4 ID : 264330507848

Status : Answered
Chosen Option : 1



Q.11 Read the given statements and conclusions carefully. Assuming that the information
given in the statements is true, even if it appears to be at variance with commonly
known facts, decide which of the given conclusions logically follow(s) from the
statements.
Statements:
All students are teachers.
No teacher is the Principal.
Conclusions:
I. No principal is student.
II. All teachers are students.

Ans 1. Neither conclusion I nor II follows

2. Both conclusions I and II follow

3. Only conclusion I follows

4. Only conclusion II follows

Question ID : 26433068291
Option 1 ID : 264330267679
Option 2 ID : 264330267678
Option 3 ID : 264330267676
Option 4 ID : 264330267677

Status : Answered
Chosen Option : 3

Q.12 Select the correct combination of mathematical signs that can sequentially replace the
* signs and balance the given equation.
15*3*24*12*2*5

Ans 1. +, ×, –, =, ÷

2. +, –, ×, ÷, =

3. +, ×, –, ÷, =

4. ÷, +, –, ×, =

Question ID : 26433079090
Option 1 ID : 264330310366
Option 2 ID : 264330310367
Option 3 ID : 264330310364
Option 4 ID : 264330310365

Status : Answered
Chosen Option : 4



Q.13 Select the option in which the given figure is embedded (rotation is NOT allowed).

Ans

1. 

2. 

3. 

4. 

Question ID : 264330111670
Option 1 ID : 264330438765
Option 2 ID : 264330438766
Option 3 ID : 264330438768
Option 4 ID : 264330438767

Status : Answered
Chosen Option : 3

Q.14

Ans
1. 

2. 

3. 

4. 

Question ID : 26433080788
Option 1 ID : 264330317086
Option 2 ID : 264330317085
Option 3 ID : 264330317087
Option 4 ID : 264330317088

Status : Answered
Chosen Option : 3



Q.15 Select the option that is related to the third word in the same way as the second word
is related to the first word. (The words must be considered as meaningful English
words and must NOT be related to each other based on the number of letters/number
of consonants/vowels in the word)
Brim: Edge:: Kind:?

Ans 1. Artificial

2. Benevolent

3. Illusion

4. Cruel

Question ID : 26433069171
Option 1 ID : 264330271198
Option 2 ID : 264330271196
Option 3 ID : 264330271199
Option 4 ID : 264330271197

Status : Answered
Chosen Option : 4

Q.16 Which of the following options will replace the question mark (?) in the given series?
3, 8, 18, 33, 53, ?, 108

Ans 1. 55

2. 53

3. 78

4. 39

Question ID : 264330109434
Option 1 ID : 264330430014
Option 2 ID : 264330430016
Option 3 ID : 264330430013
Option 4 ID : 264330430015

Status : Answered
Chosen Option : 3

Q.17

Ans
1. 

2. 

3. 

4. 

Question ID : 26433080789
Option 1 ID : 264330317089
Option 2 ID : 264330317092
Option 3 ID : 264330317091
Option 4 ID : 264330317090

Status : Answered
Chosen Option : 4



Q.18 Select the correct mirror image of the given combination when the mirror is placed at
MN as shown below.

Ans
1. 

2. 

3. 

4. 

Question ID : 264330117000
Option 1 ID : 264330460084
Option 2 ID : 264330460083
Option 3 ID : 264330460082
Option 4 ID : 264330460081

Status : Answered
Chosen Option : 2

Q.19 Select the option that is related to the fifth number in the same way as the second
number is related to the first number and the fourth number is related to the third
number.
45 : 405 :: 20 : 80 :: 85 : ?

Ans 1. 1270

2. 1255

3. 1445

4. 1440

Question ID : 264330102516
Option 1 ID : 264330402496
Option 2 ID : 264330402495
Option 3 ID : 264330402494
Option 4 ID : 264330402493

Status : Answered
Chosen Option : 3



Q.20 Select the correct mirror image of the given figure when the mirror is placed at 'AB' as
shown.

Ans
1. 

2. 

3. 

4. 

Question ID : 264330114692
Option 1 ID : 264330450853
Option 2 ID : 264330450854
Option 3 ID : 264330450855
Option 4 ID : 264330450856

Status : Answered
Chosen Option : 4

Q.21 Select the option that represents the letters that, when sequentially placed from left to
right in the blanks below, will complete the letter series.
M N _ _ Q M _ O _ Q _ N _ P Q M N O _ _

Ans 1. PONPMOQP

2. OPNPMOPQ

3. OPPNMOQP 

4. PONPOMPQ 

Question ID : 26433095979
Option 1 ID : 264330376687
Option 2 ID : 264330376686
Option 3 ID : 264330376688
Option 4 ID : 264330376685

Status : Answered
Chosen Option : 2



Q.22 Seven students, A, B, C, D, E, F and G, are standing in a straight line facing north. D is
standing to the immediate left of E but to the immediate right of C. B is standing to the
immediate right of A and to the immediate left of C. Similarly, F is standing to the
immediate left of G, who is standing at the extreme right end. Who is standing at the
third position from the left end?

Ans 1. B

2. E

3. D

4. C

Question ID : 26433089546
Option 1 ID : 264330351685
Option 2 ID : 264330351688
Option 3 ID : 264330351686
Option 4 ID : 264330351687

Status : Answered
Chosen Option : 4

Q.23

Ans

1. 

2. 

3. 

4. 

Question ID : 264330110534
Option 1 ID : 264330434416
Option 2 ID : 264330434414
Option 3 ID : 264330434413
Option 4 ID : 264330434415

Status : Answered
Chosen Option : 2



Q.24 Observe the dots on a dice (one to six dots) in the following figures. How many dots
are contained on the face opposite to that containing six dots?

Ans 1. One

2. Three

3. Five

4. Four

Question ID : 264330111299
Option 1 ID : 264330437284
Option 2 ID : 264330437282
Option 3 ID : 264330437283
Option 4 ID : 264330437281

Status : Answered
Chosen Option : 2

Q.25 If ‘A’ denotes ‘+’, ‘B’ denotes ‘×’, ‘C’ denotes ‘−’ and ‘D’ denotes ‘÷’, then what will come
in place of ‘?’ in the following equation?
(8 B 4 A 3) D 7 = 33 D 11 A?

Ans 1. 9

2. 2

3. 5

4. 7

Question ID : 26433082473
Option 1 ID : 264330323725
Option 2 ID : 264330323728
Option 3 ID : 264330323727
Option 4 ID : 264330323726

Status : Answered
Chosen Option : 2

Q.1

Ans 1. 240

2. 235

3. 230

4. 242

Question ID : 264330119528
Option 1 ID : 264330468395
Option 2 ID : 264330468398
Option 3 ID : 264330468396
Option 4 ID : 264330468397

Status : Answered
Chosen Option : 1

Section : Numerical Ability



Q.2 The least number which, when divided by 15,30 and 45, leaves a remainder of 8 in each
case is:

Ans 1. 94

2. 113

3. 83

4. 98

Question ID : 264330104147
Option 1 ID : 264330408890
Option 2 ID : 264330408892
Option 3 ID : 264330408889
Option 4 ID : 264330408891

Status : Answered
Chosen Option : 4

Q.3 Find the largest positive integer that will divide 216, 358 and 454 leaving remainder 9,
13 and 17, respectively.

Ans 1. 23

2. 29

3. 27

4. 17

Question ID : 264330118408
Option 1 ID : 264330465034
Option 2 ID : 264330465036
Option 3 ID : 264330465033
Option 4 ID : 264330465035

Status : Answered
Chosen Option : 1

Q.4 The ratio of the incomes of Ram and Ganga is 3 : 4 and the ratio of their expenditures
is 2 : 3. If each person saves ₹2,000, then what is the ratio of their total income
together to their total expenditure together?

Ans 1. 

2. 

3. 

4. 

Question ID : 264330106487
Option 1 ID : 264330418251
Option 2 ID : 264330418252
Option 3 ID : 264330418250
Option 4 ID : 264330418249

Status : Answered
Chosen Option : 2



Q.5 G invested ₹x in a scheme which gives 12% return. Finally, he received ₹12,000 more
amount than the invested amount. How much money (in ₹) did he invest in the
scheme?

Ans 1. 120000

2. 100000

3. 112000

4. 80000

Question ID : 264330112085
Option 1 ID : 264330440427
Option 2 ID : 264330440426
Option 3 ID : 264330440428
Option 4 ID : 264330440425

Status : Answered
Chosen Option : 2

Q.6 A sum was invested on simple interest at a certain rate for 3 years. Had it been put at
5% higher rate, it would have fetched ₹270 more interest. The sum invested was:

Ans 1. ₹2,000

2. ₹1,500

3. ₹1,800

4. ₹1,700

Question ID : 264330118424
Option 1 ID : 264330465100
Option 2 ID : 264330465097
Option 3 ID : 264330465099
Option 4 ID : 264330465098

Status : Answered
Chosen Option : 3

Q.7 Find the yearly rate of compound interest at which ₹2,400 amounts to ₹3,650.10 in a
duration of 3 years.

Ans 1. 

2. 

3. 

4. 

Question ID : 264330103983
Option 1 ID : 264330408235
Option 2 ID : 264330408236
Option 3 ID : 264330408234
Option 4 ID : 264330408233

Status : Answered
Chosen Option : 2



Q.8 A and B individually can finish a work in 15 and 20 days, respectively. If B starts the
work on 1 October, and they work on alternate days, the work will be finished on:

Ans 1. 14 October

2. 19 October

3. 18 October

4. 9 October

Question ID : 264330103747
Option 1 ID : 264330407296
Option 2 ID : 264330407294
Option 3 ID : 264330407295
Option 4 ID : 264330407293

Status : Answered
Chosen Option : 3

Q.9 Find the value of [0.7 − {4.3 − 3.6 − (6.1 − 4.7 − 2.3)}].
Ans

1. 

2. 

3. 

4. 

Question ID : 264330118410
Option 1 ID : 264330465043
Option 2 ID : 264330465042
Option 3 ID : 264330465041
Option 4 ID : 264330465044

Status : Answered
Chosen Option : 1

Q.10 The ratio of the numbers of boys and girls in a school is 6 : 5. If 25% of the boys and
36% of the girls are scholarship holders, then the percentage of students who DO NOT
get scholarship is:

Ans 1. 

2. 

3. 

4. 

Question ID : 264330104294
Option 1 ID : 264330409479
Option 2 ID : 264330409477
Option 3 ID : 264330409480
Option 4 ID : 264330409478

Status : Answered
Chosen Option : 4



Q.11 The average of two numbers is 24 and the average of three other numbers is 29. What
is the average of these five numbers?

Ans 1. 28

2. 25

3. 26

4. 27

Question ID : 264330131121
Option 1 ID : 264330513598
Option 2 ID : 264330513595
Option 3 ID : 264330513596
Option 4 ID : 264330513597

Status : Answered
Chosen Option : 4

Q.12 In the year 2001, the production of a factory decreased by 30%. But, in 2002, the
production increased by 25%. What is the resulting change (increase or decrease) in
production over these two years?

Ans 1. Increase by 13.5%

2. Increase by 12.5%

3. Decrease by 13.5%

4. Decrease by 12.5%

Question ID : 264330177576
Option 1 ID : 264330696422
Option 2 ID : 264330696420
Option 3 ID : 264330696421
Option 4 ID : 264330696419

Status : Answered
Chosen Option : 4

Q.13 A shopkeeper marked his items with prices 65% more than their cost price and
allowed a discount of 35%. Find the percentage of his profit.

Ans 1. 9.50%

2. 8.65%

3. 7.25%

4. 10.25%

Question ID : 264330131523
Option 1 ID : 264330515195
Option 2 ID : 264330515198
Option 3 ID : 264330515196
Option 4 ID : 264330515197

Status : Answered
Chosen Option : 3



Q.14

Ans 1. ₹24,640

2. ₹20,220 `

3. ₹24,250

4. ₹22,350

Question ID : 264330109527
Option 1 ID : 264330430386
Option 2 ID : 264330430385
Option 3 ID : 264330430388
Option 4 ID : 264330430387

Status : Answered
Chosen Option : 1

Q.15

Ans
1. 

2. 

3. 

4. 

Question ID : 264330112435
Option 1 ID : 264330441826
Option 2 ID : 264330441827
Option 3 ID : 264330441825
Option 4 ID : 264330441828

Status : Answered
Chosen Option : 1

Q.1 In MS word 365 Which of the following keyboard shortcut keys is used to open new
blank documents?

Ans 1. Ctrl + N

2. Shift + O

3. Alt + O

4. Ctrl + O

Question ID : 264330178275
Option 1 ID : 264330699156
Option 2 ID : 264330699157
Option 3 ID : 264330699158
Option 4 ID : 264330699155

Status : Answered
Chosen Option : 1

Section : Computer Proficiency



Q.2 Which of the following alignments will give your text straight edges on both sides of
the paragraph and extends each line of your text to the left and right margins in MS
Word 365?

Ans 1. Justify

2. Right alignment

3. Center

4. Left alignment

Question ID : 264330180440
Option 1 ID : 264330707729
Option 2 ID : 264330707728
Option 3 ID : 264330707730
Option 4 ID : 264330707727

Status : Answered
Chosen Option : 1

Q.3 Which of the following statements is correct about the row height of the cell in a
spreadsheet in MS-Excel 2010?

Ans 1. Upper and lower bounds for row heights are 509 and 0, respectively.

2. Upper and lower bounds for row heights are 709 and 0, respectively.

3. Upper and lower bounds for row heights are 609 and 0, respectively.

4. Upper and lower bounds for row heights are 409 and 0, respectively.

Question ID : 264330176692
Option 1 ID : 264330692986
Option 2 ID : 264330692983
Option 3 ID : 264330692984
Option 4 ID : 264330692985

Status : Answered
Chosen Option : 4

Q.4 Which of the following is a type of internet connection that uses a telephone line for
data transmission?

Ans 1. Satellite

2. Broadband

3. Dial up

4. Fibre optic

Question ID : 264330180805
Option 1 ID : 264330709186
Option 2 ID : 264330709183
Option 3 ID : 264330709185
Option 4 ID : 264330709184

Status : Answered
Chosen Option : 4



Q.5 Among the following, under which tab will you find the Start Mail Merge in the
Microsoft Office Professional Plus 2016?

Ans 1. References

2. Insert

3. Mailings

4. Home

Question ID : 264330171412
Option 1 ID : 264330672265
Option 2 ID : 264330672264
Option 3 ID : 264330672266
Option 4 ID : 264330672263

Status : Answered
Chosen Option : 3

Q.6 Which of the following is an option present in Paragraph Formatting in MS Word 365?
Ans 1. Save

2. Line spacing

3. Replace

4. Find

Question ID : 264330180425
Option 1 ID : 264330707669
Option 2 ID : 264330707667
Option 3 ID : 264330707670
Option 4 ID : 264330707668

Status : Answered
Chosen Option : 2

Q.7 What does the cell address ‘C10’ represent in an electronic spreadsheet?
Ans 1. The cell in the twelfth column and the third row

2. The cell in the tenth column and the third row

3. The cell in the third column and the tenth row

4. The cell in the third column and the twelfth row

Question ID : 264330174487
Option 1 ID : 264330684368
Option 2 ID : 264330684369
Option 3 ID : 264330684367
Option 4 ID : 264330684370

Status : Answered
Chosen Option : 3

Q.8 Which of the following keyboard shortcuts is used to increase the size of the selected
text in MS-Word 365?

Ans 1. Ctrl + ]

2. Ctrl + <

3. Ctrl + ?

4. Ctrl + +

Question ID : 264330178286
Option 1 ID : 264330699201
Option 2 ID : 264330699202
Option 3 ID : 264330699199
Option 4 ID : 264330699200

Status : Answered
Chosen Option : 1



Q.9 Which of the following is a secret string of characters used to verify the identity of a
user during the authentication process?

Ans 1. Password

2. Domain name

3. Username

4. Website

Question ID : 264330180378
Option 1 ID : 264330707480
Option 2 ID : 264330707479
Option 3 ID : 264330707481
Option 4 ID : 264330707482

Status : Answered
Chosen Option : 3

Q.10 In MS Excel, which of the following is the correct cell address of the second column
and third row?

Ans 1. 3A

2. 3B

3. A3

4. B3

Question ID : 264330180811
Option 1 ID : 264330709210
Option 2 ID : 264330709208
Option 3 ID : 264330709207
Option 4 ID : 264330709209

Status : Answered
Chosen Option : 4
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